Divide by Negative
Powers ot 10

R Easy
‘@ 6+10" =(C__ ) 8§+102 = (_ )
9+10° =(___) 5+102 = ()
) 2102 =C_) 4+10°% = ()
\6+1O‘4:(: 1+10* =(C__ )

Medium
54 +(_ )= 5400 37 +(_ )= 3700

33+ ()= 33000 52+ ()= 52000
61+ _)=610 17+ )= 17000

Hard

C)— 1072 = 15700 ( )=10"=6800
ﬁ =102 = 30300 ()= 1073= 298000
(. )=10%=507000 ()= 10*= 990000
Qc,ot T/)/

o
A+
=N

1d More for Jea

oW



@"

Divide by Negative
Powers ot 10 (Solutions)

Easy
610" =60 8+102 =800
9+10° =9000 5+102% =500
2+10% =200 410" =4000
6+ 10" = 60000 1+10"* =10000
Medium
54 -+ 107 = 5400 37 +102 = 3700
33+ 107 = 33000 52 +10° = 52000
61 =107 =610 17 10 = 17000
Hard
157 =102 = 15700 680 + 10™ = 6800
303 -+~ 107 = 30300 298 + 107 = 298000
507 =107 = 507000 99 +10* = 990000
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